[4+(5+5+5)+6 points] 4

4. A sequence {a,}5° , satisfies
(p—1 + Qp—2

ay=1, aa=A, and a,= ———-a,_1 for n>3,
Up—1 — Gp—2

where A is a real number such that A#1, A #0, A # —1.

a. In the following, fill in the s with real numbers that will make the sentence into a true

statement.

If A=| 7 |, then a3 = é and a;=| [,

b. In each of the following, fill in the with a real number that will make the corresponding

sentence into a true statement.

OOIf A= 2 , then lim a, = c0.

n—o0

O If A= —ZJ , then lim a, =0.

n—o0

E/OH A= ﬁ'l ,thennh_{roloan#o andnll_>nc}0|an|7éoo.

c. Now choose exactly one of the statements you made in Part b by putting a X in the corresponding
[J, and prove it fully and carefully by using correct mathematical reasoning and notation.
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